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MULTIPLE CHOICE

Question 1

An open source operating system is one which:

A. Does not have the facility for implementing file access security.

B. The program source code is freely available for anyone to access.

C. An organisation may only use with approved software packages.

D. Does not have a graphical user interface.

Question 2

The main purpose of disk caching is to:

A. Increase the hard disk size.

B. Monitor file access and system performance.

C. Increase the amount of volatile memory.

D. Locate temporary Internet files.

Question 3

Carrying out a software audit involves:

A. Keeping a list of all software packages licensed to an organisation.

B. Running a diagnostics program to see if the software is performing correctly on the system.

C. Checking each machine in an organisation and listing any illegal software that is installed.

D. Checking each machine in an organisation and listing which software packages are installed.

Question 4

Which of the following would not usually be included in the technical documentation for a software application?

A. A set of instructions for backing up data files.

B. The system flow chart.

C. A data dictionary.

D. Standards for and samples of screen designs or layouts.

SHORT ANSWER QUESTIONS

Question 1

Perfect Pet Food manufactures pet food for dogs and cats and distributes to the metropolitan area through its various retail outlets. The company wishes to update its computer system, which currently consists of stand-alone PCs situated in various offices. They want to network about 10 new PCs and provide access to shared files and printing facilities. The following questions have arisen after preliminary discussions with management and technical staff. In your capacity of Network Consultant, what would your responses be?

a. Give two possible problems that could occur with the system when the new technology is first implemented. 

b. What are some likely problems that could be experienced by the office staff at Perfect Pet Food when using the new system. 

c. Suggest how you might overcome the problems you mentioned in part b.

d. List six things that any implementation plan for new technology should generally include.

e. Choose one of the items listed in part d. and explain why it is important.
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